B EZEXREDODODQ) / Color Type(End of product numberd)

BT =7J)LT—% / Technical Datall RN / Components
No. &K / Part name #= / Pcs #& / Material - RmEWLE / Color-Finish
#1TRILY / Recommended torque Q—F—Jnvs FILEZ A ¥y X ADC12 SIR— | TSyl
av::| TR JLEM3x10 / Hexagonal M3-10 : 0.2N-m 1 Corner block ! Diecast aluminium ADC12 Silver , Black+Painted (Unfinished inside)
AR TILSHHH A6063S-T5 DW= TTYT T ILIA YT EE
EARGYE L TE AM5x8 / Self-tapping pan head M5-8 : 1.5Nm 2 Frame 2 Extruded aluminium A6063S-T5 [ Silver , Black* Anodized with clear coating
ZDHE X / Other screws : 0.3N*m ~ 0.6N*m 3 IL—L 4 TILSHH# AB063S-T5 DIIN—  TZYD-TILIARRI) T HLE
Panel support frame Extruded aluminium A6063S-T5 Silver , Black* Anodized with clear coating
. IRV ) T ILSHR A1100P DIN—  TZYY-TILIAh
Panel Aluminium A1100P Silver , Black" Anodized
5 HN— ! T ILSHR A1100P DIWN—  TZYY-TILIAh
Top cover Aluminium A1100P Silver , Black* Anodized
6 TH/N— i 7 ILEHR A1100P DIWIN— T TILIA
Bottom cover Aluminium A1100P Silver , Black" Anodized
. a—F—H—F g TPE (T5AF) 7599, 9Lb—, RA(E—, LK
. Corner guard TPE (Elastomer) Black , Gray , Navy , Red
B‘/Vlew 8 ;\:—\”U_)d/ VR 1 PU, PA6 , ABS , AWCH 7799 IL—
Carrying handle Black , Gray
9 ER{FE R (M3 x 8) " % ST ILAYE
Screw (Flat head M3 - 8) Steel Nickel plated
0 BAER GREIFUTHRILEMS x 10) o % =SHEsai—k
Screw (Hexagonal M3-10) Steel Black trivalent chromate
i BAHE R (FR2YE M5 x 8) . &% Z{loOr—k
Screw (Self-tapping pan head M5-8) Steel Trivalent chromate
i MFER GRANAERHM3X5) 4 % ZoTILAvE | SR OA—k
Screw (Original trapezoid hex head M3-5) Steel Nickel plated , Black trivalent chromate

P

§05 / Code | 7JLE/—X / Aluminium enclosure a—+—H—F / Corner guard F1)2 \URJL / Carrying handle 4
SBB 2 )Ls8— / Silver 75v?% / Black 7597 / Black 12
SGB < )LiN— / Silver J'L— / Gray 7594 / Black — 5
S N B < )LiN— / Silver *1E— / Navy 7594 / Black A
SRB 2 )L18— / Silver LE / Red 7597 / Black = E T
SB G 2 JLi3— / Silver J5v% / Black S'L— / Gray BASHahF e T2 A —H— Rt YT — R @ G
SGG 2 JL1N— / Silver 4'L— / Gray 4'L— / Gray
S NG S LA— / Siver FAE—/ Navy FL— ) Gray _ TAKACHI ELECTRONICS ENCLOSURE CO., LTD. | Portable Aluminium Instrument Case with Handle R S
SRG S LA— / Siver LoF / Red TL— Gray 758/ Approved %X /Checked #U[¥]/Created F1Z /Product number
BB B J5v% / Black J5v% / Black JS5w4 / Black iR e FapS AUGH149-50-30- [ p— y
B GB 75v% / Black 4'L— / Gray 75w% / Black
BN B J59% / Black #AE— / Navy J5v% / Black feAtB/Date  2025/06/27 177
B RB 75v4 / Black LvYEK / Red 594 / Black AREDEEEIRASHINTFEMIEIZIZEELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




B-B(1:9)
300+0.5 (5 —R45} 2 / External)

500+0.8 (5 —X 4} / External)
453

A view

161

| | 2 3 T
Y/ b:EEIB

25

[{e)
[eo]
N
127
E view
308
PR e | Bt | ., Y

(N

149405 (r— A4\ 2 / External)

492

4 /Title

TAKACHI| #at&itshT BHTH A—F— ARt —2 O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Portable Aluminium Instrument Case with Handle
B/ Approved X /Checked #1[X]/Created FIFE /Product number RE/Scale
19
iR e A AUGH149-50-30-J sy
2025/06/27 2 /1

{ERX B /Date

AEEOEFEIIRARSHINDTFERIXICTHIELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C {l#® / C Frame

148

14

ZRME / Front side

D {l#% / D Frame

M / Front side

250

O 6] O Q

28 127.5 28 4-255

2-M3FEHIR
2-M3 Countersunk

X RO ElHE / Same on the other side.

141.7

225

3.3

33

O O (] O
ZZ M / Back side
ZE M / Back side
4/ Title
TAKACHI| BXESH4hFERIE {84 (} G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
B/ Approved X /Checked #IX]/Created R /Product number RE/Scale
1:3
iR £ FiE:N R—/Page
H149 - D300 {ERX B /Date 2025/06/10 3/ 6

AEEOEFEIIRARSHINDTFERIXICTHIELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




450 6.8 2

225

Ip]
ﬂ:
16
¥
<
N
M3 5 3 33

2-M3FH37%
2-M3 Countersunk

147K / Total 4 pieces

ffa/Title
BRRUINTFERTE JL—L O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel support frame
B/ Approved X /Checked #IX]/Created R /Product number RF‘;—Z/S;:azle
iR £ FiE:N R—/Page
W500 {ER B /Date 2024/05/15 4 /17
AHEDEFEIBASHIDFERITEICIRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A /NARJL / A Panel

450

138

M@ / Front side

B /\®x)L / B Panel

E#h~ti% / Max dim. 442 £ 0.8

M@ / Front side

BH31TiE / Max dim. 130 £ 0.5

15

fREES—HA

Surface protective film side

REE—HA

Surface protective film side

ZEM / Back side

M / Back side

4/ Title
TAKACHI| X2 hFERIE ISR (} G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
B/ Approved X /Checked #IX]/Created R /Product number RE/Scale
1:3.5
iR £ fiE) A ~R—/Page
H149 — W500 {ERX B /Date 2024/05/15 5 /17

AREDEFIEIIHRXESHADTFER T EICRBBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




489.4

4-R147 470 6-24.5 2

Axh~ti% / Max dim. 253+0.5

<
: o
I~
REES—MEY
Surface protective film side
\& & \& &
H#~ti% / Max dim. 453+0.8
@ / Front side ZEM / Back side
fn 4/ Title
TAKACHI] #XSahFEHTE $178— (4 —
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
B/ Approved X /Checked #IX]/Created R /Product number RE/Scale
1:4.5
iR £ 4t R—/Page
W500 - D300 Y B /Date 2022/11/16 6 /7
AREDEFIEIIHRXESHADTFER T EICRBBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




489.4

4-R147 470 6-24.5 2

Axh~ti% / Max dim. 253+0.5

<
. o
2 N
REES—MEY
Surface protective film side
\& & \& &
H#~ti% / Max dim. 453+0.8
@ / Front side ZEM / Back side
fn 4/ Title
TAKACHI| BXESH4hFERIE TH/N— (} G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover
B/ Approved X /Checked #1[X]/Created FIFE /Product number RE/Scale
1:4.5
iR £ 4t R—/Page
W500 - D300 {ER B /Date 2022/11/16 777
AREDEFIEIIHRXESHADTFER T EICRBBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




